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(B) Union Bank of India
(B) Canara Bank
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(D) Ramayana
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*2. Which of the following Academies is responsible for fostering the development of dance,
o 1 and music in India ? :
F ' W National School of Drama (B) Sangeet Natak Akademi
~ (C) Sahitya Akademi (D) Lalit Kala Akademi
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@ 2014 winner of prestigious Goldman Environmental Prize is
' Agarwal (B) Srinivas Acharya
budhary (D) Sunil Nayak
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d numbers in a set of three consecutive odd numbers is
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' (B) 6:5 (’c; 15:1.8 (D) 2:8

o of students in Arts, Science and Commerce faculliesis 5:4: 3. 'lf the number
s in Scienoa fam:ﬂty is 236 what is the number of students in Commerce
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- 35, The average age of 4 brothers is 12 years. If the age of their mother is also included,
- theaverage is increased by 5 years. Calculate the age of the mother in years.
bl et apima auuig 12 o),6vm G)a6ir & muillet auuwiens b BGFrgs ey
15 gy a1 et o BaiflampG. Hruiler s 21,695 (5) % 6l 60
.
4 (B) 43 (C) 48 (D) 53
weighs 14 kgs more than the weight of his wife. His wife weighs 23 kgs more
' hter, who weighs 29 kgs. Calculate their average weight in kgs:
(B) 49 kgs ~ (©) 48kgs (D) 58 kgs
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g right turn and walked 10 metres and again
: “. Whlch direction is he facing now ?
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at the speed of 6 km/hr and the remaining 40 kms
is the average speed for the whole journey ?
' (C) 8km/hr (D) 7 Y2 km/hr
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43. A man buys a radio for Rs. 1,400 andsellsitatal
(B) Rs. 1,190 (C) Rs. 1.164’:-'! L
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4?wyxmr§ gr%rb men has provision for 30 days. If after 10 days, they are reinforced

by 1,000 men, how long will the provision last ?
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sentences by filling up the blanks
et __long river.
BN oo o (C) the o (D) also
ht man makes no mistake.
(B) A ~1C) An (D) None
:"' ______yourwatch ? &
(B) by . (C) on D) at
_largest country in the world.
‘S < (B) a (C) one (D) almost
, mmﬂdreﬁ were playing______ the ground.
~@in (B)“over (C) on (D) above

ord which is similar in meaning to the words given below :

g (B)/Sorm’d!* (C) Pain : (D) Shock
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‘.;”,"Nv‘." :.7 § IR v

(B) Fake me) Fuﬁny (D) Fall
. )

R vy

C) Insane 4 (D) Inward
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(D) Prolifarate

Js Manlgor!al ©) Managerial
; ‘Q). Evacuete (D) Evecuate

lich is exactly opposite to the meaning of the word

(C) Inembark ~(D) Debark

) Analyst  ~AC) Optimist (D) Elitist
lmurmus (C) Wicourteous (D) Acourteous
Non-loyal ~ (C) Disloyal (D) Unloyal

Wi (C) Sudden (D) Magical

fi'om the choices given below the questions :

nnei wﬂh a garland and a citation.
htﬁd (C) felicitated (D) faculted

m examination one has to study

e (C) haired J\Dy*hard
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oy the standlng crops.

~(C) affected (D) effectuated

__by the army.
~ (C) recussed (D) scoured

emust______daily.

~ (C) excise A(D) gxercise
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